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PART – I / ^mJ - 1 

 

Question no. 1 : The 'Self-Respect Movement' which 

aimed to achieve a society where all classes have equal 

human rights, was first started by ....... 

 1) Rajaram Mohan Roy 2) E.V. Ramaswamy 

 3) Mahatma Gandhi 4) K. Veera Saligam 

àíZ H«$. 1 : "AmË‘gÝ‘mZ MidirMo ‘w»¶ CÔoe Agm hmoVm H$s gd© 
dJm©Vrb bmoH$m§Zm g‘mZ ‘mZdr A{YH$ma AgUmam g‘mO {Z‘m©U H$aUo. 
hr Midi gd©àW‘ H$moUr gwê$ Ho$br ? 

 1) amOmam‘ ‘mohZ am°¶ 2) B.pìh. am‘ñdm‘r 
 3) ‘hmË‘m Jm§Yr 4) Ho$. dragqbJ‘ 
Question no. 2 : The European Union is a/an ..... 

 1) Political Organization  

 2) Economic Organization 

 3) Security Organization  

 4) Economic and Political Organization 
àíZ H«$. 2 : ¶wamo{n¶Z g§K hm ......... 
 1) amOH$s¶ g§KQ>Zm Amho.  
 2) Am{W©H$ g§KQ>Zm Amho. 
 3) g§ajU g§KQ>Zm Amho.  
 4) Am{W©H$ d amOH$s¶ g§KQ>Zm Amho. 
Question no. 3 : Declaration of the Rights of the child was 

proclaimed by UN on......... 

 1) 20 November 1959 2) 24 October 1945 

 3) 10 December 1948 4) 1 January 1995  
àíZ H«$. 3 : g§¶w³V amï´>m§Zr ~mbH$m§À¶m h³H$m§Mm OmhraZm‘m H$Yr 
àg¥V Ho$bm ?  
 1) 20 Zmoìh|~a 1959       2) 24 Am°³Q>mo~a 1945 
 3) 10 {S>g|~a 1948       4) 1 OmZodmar 1995 
Question no. 4 : "Narsimham Committee was releted to .... 

 1) Higher Education reforms 

 2) Tax structure reforms 

 3) Planning implementation reforms 

 4) Banking structure reforms 

àíZ H«$. 4 : Zaqgh‘² g{‘Vr .... er g§~{YV hmoVr. 
 1) Cƒ {ejU gwYmaUm  
 2) H$aaMZm gwYmaUm 
 3) {Z¶moOZ A§‘b~OmdUr gwYmaUm  
 4) ~±{H$JaMZm gwYmaUm 

Question No. 5 : The half life period of an isotope of an 

isomer is 1 hr. How much of the initial quantity of the 

isotope will be left after 3 hrs ? 

 1)  2)  3)  4)  

àíZ H«$. 5 : EH$m g‘ñWm{ZH$mMm AY© OrdZ H$mbmdYr 1 Vmg Amho. 
Va 3 VmgmZ§Va ‘yi n[a‘mUmÀ¶m {H$Vr g‘ñWm{ZH$ {e„H$ Agob ? 

 1)  2)   3)  4)  

Question No. 6 : Who amongst the following has been 

appointed as the Private Secretary  to President Ram Nath 

Kovind ? 
 1) Vikram Singh 2) P.C. Meena 

  3) C.R. Choudhary 4) Shashank S. Singh  

àíZ H«$. 6 : Imbrbn¡H$s H$moUmMr amï´>n{V am‘ZmW H$moqdX ¶m§Mo 
ImOJr g{Md åhUyZ Zo‘UyH$ H$aÊ¶mV Ambr Amho ? 
 1) {dH«$‘ qgJ     2) nr. gr. {‘Zm     
 3) gr. Ama. Mm¡Yar 4) eem§H$ eo. qgJ 

Question no. 7 : Which British Prime Minister declared on 

20
th

 Feb.1947, that India shall be given freedom before June 

1948? 

 1) Winston Churchil 2) Lord Marvell 

 3) Lord Mountbatten 4) Clement Atlee 

àíZ H«$. 7 : H$moUË¶m {~«{Q>e n§VàYmZmZo 20 ’o$~«wdmar 1947 bm 
Omhra Ho$bo H$s ^maVmbm OyZ 1948  nydu ñdmV§Í¶ {Xbo OmB©b ? 

 1) {dÝñQ>Z M{M©b  2) bm°S>© ‘md}b 
 3) bm°S>© ‘mD§$Q>~°Q>Z 4) ³bo‘§Q> A°Q>br 
Question no. 8 : The human in following picture is ..... 

 1) Bushman  2) Samoyeds 

 3) Pigmies  4) Hausa 

 

 

 

 

 

 

 

 

 

àíZ H«$. 8 : darb {MÌm‘Ü¶o XmI{dbobm ‘mZd .......... 
 1) ~we‘oZ 2) g°‘m°B©S> 3) {n½‘rO 4) hm¡gm 
Question no. 9 : Which of the following is/are incorrect ? 

A) In India every person has a right to worship according to 

 one's religion. 

B)  Government can forbid inhuman customs, traditions 

 and superstitions practised in the name of religion. 

 1) Only B   2) Only A 

 3) Both are incorrect 4) None of them.   

àíZ H«$. 9 : nwT>rbn¡H$s H$moUVo {dYmZ MyH$ Amho ?  
A) ^maVmV gdmªZm Amnë¶m Y‘m©Zwgma CnmgZm H$aÊ¶mMm h³H$ {Xbm 
 Amho. 
~) Y‘m©À¶m Zmdo MmbUmè¶m A‘mZwf MmbrarVr, àWm Am{U A§YlX²Ym 
 ¶mda gaH$ma ~§Xr Kmby eH$Vo. 
 1) ’$³V ~  2) ’$³V A  
 3) XmoÝhr {dYmZo MyH$ AmhoV. 4) H$moUVohr Zmhr. 
Question no.10 : 'Open Market Operation' is a part of ... 

 1) Income Policy   2) Fiscal Policy 

 3) Credit Policy  4) Labour Policy  
 àíZ H«$. 10  :  'Iwë¶m ~mOmamVrb ì¶dhma'  ........... Mm ^mJ Amho. 
 1) CËnÞ YmoaUm 2) amOH$mofr¶ YmoaUm 
 3) nVYmoaUm  4) l‘ YmoaUm  

Question No. 11 : Which of the following is a scalar 

quantity ?  

 1) Velocity   2) Speed  

 3) Force   4) Acceleration 

àíZ H«$. 11 : Imbrbn¡H$s H$moUVr amer A{Xe Amho? 
 1) doJ 2) Mmb   3) ~b 4) ËdaU 
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Question No. 12 : Who has won the 2017 Men's Singles 

French Open Superseries badminton Tournament ? 
 1) Parupalli Kashyap 2) B. Sai Praneeth 

  3) Kidambi Srikanth 4) H.S. Prannoy 
àíZ H«$. 12 : 2017 nwê$f EHo$ar ’o«§$M Iwbr gwna{garO ~°S>q‘Q>Z 
ñnYm© qOH$br ? 
 1) nmê$nëbr H$mí¶n     2) ~r.gmB© àUrV     
 3) {H$X§~r lrH$m§V 4) EM. Eg àUmo¶ 

Question no. 13 : Which three states Signed MoU under 

the 'Ek Bharat; Shrestha Bharat' programme to Boost 

Culture and Tourisum ?  

 1) U.P., Arunachal Pradesh, Meghalaya   

 2) Andhra Pradesh, Maharashtra, Odisha 

 3) Punjab, Rajasthan, U.P. 

 4) Arunachal Pradesh, Himachal Pradesh, Jammu  

          and Kashmir 

àíZ H«$. 13 : Imbrbn¡H$s H$moUË¶m VrZ amÁ¶m§Zr ' EH$ ^maV, loð> 
^maV'  ¶m CnH«$‘m§VJ©V g§ñH¥$Vr Am{U n¶©Q>ZmÀ¶m d¥ÕrgmR>r g‘PmoVm 
H$amamda gh¶m Ho$ë¶m ?   
 1) C. àXoe, Aê$UmMb àXoe, ‘oKmb¶ 
  2) Am§Y« àXoe, ‘hmamḯ>, Amo[agm 
 3) n§Om~, amOñWmZ, C. àXoe 
 4) Aê$UmMb àXoe, {h‘mMb àXoe, Oå‘y-H$mí‘ra 
Question no. 14 : The shaded Tahasil is famous for the 

cultivation of ....... 

 1) Rice  2) Cotton 

 3) Sugarcane 4) Ground nut 

 
 
 
 
 
 
 
àíZ H«$. 14 : N>m¶m§{H$V Ho$bobm VmbwH$m ........ À¶m bmJdS>rgmR>r 
à{gÕ Amho. 
 1) Vm§Xÿi 2) H$mnyg 3) D$g 4) ŷB©‘yJ 
Question no. 15 : Which of the following statement/s is/are 

incorrect? 

i)  Lack of honesty in carrying out one's responsibility and 

 misuse of authority for selfish interest increase 

 corruption. 

ii)  Ignoring corruption in any form is a social crime. 

iii) In order to control corruption, citizens have been given 

 the Right to information. 

 1) i and iii             2) No statement is incorrect 

 3) only iii             4) i and ii  
àíZ H«$. 15 : Imbrbn¡H$r H$moUVo /Vr {dYmZ/Zo A¶mo½¶ Amho/V ?  

i)  Amnbr O~m~Xmar àm‘m{UH$nUo nma nmS>Ê¶mEodOr Amnë¶m nXmMm, 
 A{YH$mamMm ñdmWm©gmR>r J¡admna H$aUo ¶m‘wio ^«ï>mMma dmT>Vmo. 
ii)  ̂ «ï>mMmamH$S>o Xþb©j H$aUo hm EH$ gm‘m{OH$ AnamY Amho. 
iii) ^«ï>mMma amoIÊ¶mgmR>r ZmJ[aH$m§Zm ‘m{hVrMm A{YH$ma XoÊ¶mV Ambm 
 Amho.   
 1) i Am{U iii          2) H$moUVohr {dYmZ A¶mo½¶ Zmhr. 
 3) ’$³V iii          4) i Am{U ii         

Question no. 16 : As per 2017 United Nations Population 

projections, there are .......... men for every 100 females in 

the world. 

àíZ H«$. 16  :  2017 À¶m g§¶w³V amḯ>g§KmÀ¶m bmoH$g§»¶m {df¶H$ 
A§XmOmZwgma, OJm‘Ü¶o Xa 100 ‘{hbm§‘mJo ....... nwê$f AmhoV. 
 1) 102 2) 105 3) 103  4) 110  
Question No. 17 : What is the minimum number of 

unequal vectors which can give zero resultant ?  

 1) two  2) four  

 3) three   4) can't say 

àíZ H«$. 17 : H$‘rVH$‘r {H$Vr Ag‘mZ g{Xe ametMm n[aUm‘ eyÝ¶ 
Agy eHo$b ? 
 1) XmoZ  2) Mma 
   3) VrZ  4) gm§JVm ¶oV Zmhr. 
Question No. 18 : On 5

th
 September 2017 – Teacher's Day 

Portal 'A' was launched by Hon. ‘B’ which provided 

national digital infrastructure for teachers. Identify A and B 

respectively ? 
 1) A – Shiksha    B – Prakash Javadekar 

 2) A – Diksha      B – Narendra Modi 

   3) A – Shiksha    B – Ram Nath Kovind  

 4) A – Diksha      B – Venkaiah naidu   
àíZ H«$. 18 : 5 gßQ>|~a 2017 - {ejH$ {XZ ¶m {Xder A ho nmoQ>©b 
‘m. B ¶m§Zr H$m¶mª{dV Ho$bo Á¶mV {ejH$m§gmR>r amï´>r¶ gm§p»¶H$ 
BÝ’«$mñQ́>³Ma XoÊ¶mV Ambo AmhoV. A Am{U B AZwH«$‘o AmoiIm. 
 1) A – {ejm     B – àH$me OmdS>oH$a      
 2) A – {Xjm     B – Zao§Ð ‘moXr     
 3) A – {ejm     B – am‘ZmW H$moqdX  
 4) A – {Xjm     B – d|H$æ¶m Zm¶Sy>  
Question no. 19 : Which Mauryan King died following 

'Sallekhana' (Voluntery fasting unto death). 

 1) Bimbisara   2) Chandragupta Mourya

 3) Asoka   4) Bruhadratha 

àíZ H«$. 19 : H$moUË¶m ‘m¡¶©Z amOmMo {ZYZ 'àm¶mondoeZm' ‘wio Pmbo ? 

 1) q~{~gma   2) M§ÐJwá ‘m¡¶©  
 3) AemoH$  4) ~¥hXaWm 
Question no. 20 : Which of the following is not a 

charactristics of Laterite soil ? 

 1) High humus content.  

 2) Red in colour. 

 3) It is formed due to leaching process.  

 4) It is formed in high rainfall region. 

àíZ H«$. 20 : Imbrbn¡H$s H$moUVo Om§^m ‘¥XoMo d¡{eîQ>ç> Zmhr? 
 1) OmñV g|Ðr¶ Ðì¶m§Mo à‘mU 
 2) Vm§~S>m a§J 
 3) {bqnJ à{H«$¶oÛmao {Z{‘©Vr hmoVo. 
 4) OmñV nO©Ý¶mMm àXoemV {Z{‘©Vr hmoVo. 
Question no. 21 : Directive Principles are applicable to .... 

 1) Only Union Govt.  2) Union and State Govt. 

 3) Only State Govt.    4) Union, State and local Govts.  
àíZ H«$. 21  : ‘mJ©Xe©H$ VËdo nwT>rbn¡H$s H$moUË¶m emgZg§ñWm§Zm bmJy 
hmoVmV ?  
 1) ’$³V g§KemgZ        
 2) g§KemgZ d KQ>H$ amÁ¶emgZ 
 3) ’$³V KQ>H$ amÁ¶emgZ 
 4) g§KemgZ, KQ>H$amÁ¶ emgZ d ñWm{ZH$ emgZ g§ñWm 
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Question no. 22 : GST Implementation in India started on : 

 1) 1
st
 July, 2016 2) 1

st
 July, 2017 

 3) 1
st
 April, 2017 4) 1

st
 December, 2016 

àíZ H«$. 22 : ^maVmV dñVy d godm H$a A‘§b~OmdUrMr gwê$dmV 
....nmgyZ Pmbr.  
 1) 1 Owb¡, 2016 2) 1 Owb¡, 2017 
 3) 1 E{àb, 2017 4) 1 {S>g|~a, 2016  

Question No. 23 : Match the following diseases and insects 

causing the diseases. 

Diseases Insects 

A) Plague (I) Female anopheles 

B) Malaria (II) Lice 

C) Dengue (III)  Rat flea 

D) Relapsing fever (IV) Culex mosquito 

àíZ H«$. 23 : Imbrb {dH$ma Am{U {dH$ma ngadUmao H$sQ>H$ ¶m§À¶m 
OmoS>çm Owidm.  

{dH$ma H$sQ>H$ 

A) ßboJ (I) A°Zm°{’$bg ‘mXr 

B) ‘bo[a¶m (II) Cdm 

C) S>|½¶y (III) C§Xra {ngy 

D) CbQ>Umam Vmn (IV) ³¶wbo³g ‘ÀN>a 
 1) A–III,  B–II,  C–IV,  D–I 

 2) A–II,  B–I,  C–III,  D–IV 

 3) A–I,  B–II,  C–IV,  D–III 

 4) A–III,  B–I,  C–IV,  D–II 

Question No. 24 : The team of which country has won the 

2017 FIFA – Under 17 World Cup at the salt Lake stadium 

in Kolkata ? 
 1) Spain      2) India        3) England 4) France 
àíZ H«$. 24 : H$moUË¶m XoemÀ¶m g§KmZo H$mobH$ËVm ¶oWrb gm°ëQ> boH$ 

H«$sS>m§JUmda {’$’$m MfH$ (17 dfm©Imbrb) qOH$bm? 

 1) ñnoZ     2) ^maV 3) B§½b§S> 4) ’«$mÝg 

Question no. 25 : Where did India launch the 'Incredible 

India' campaign in Sept. 2017 to attract Egyptian travellers? 

 1) Cairo  2) Aswan 3) Giza     4) Alexandira 

àíZ H«$. 25 : 'AVwë¶ ^maV ' ‘mo{h‘oMr ^maVmZo B{OáÀ¶m àdmem§Zm 
AmH¥$îQ> H$aÊ¶mgmR>r H$moR>o gwadmV Ho$br ?  
 1) H¡$amo  2) AmñdmZ 
 3) {JPm  4) A°bo³Pm§{S´>¶m 
Question no. 26 : Which of the following statements is not 

associated with selvas forest region ? 

 1) This region receives every day rainfall. 

 2) The trees never shade their leaves hence they are 

evergreen. 

 3) It is observed in central America and central 

Africa. 

 4) Region has many veriety of trees. 

àíZ H«$. 26 : Imbrbn¡H$s H$moUVo {dYmZ goëìhmO dZm§er g§~§{YV   
Zmhr ? 

 1) ¶m àXoemV df©^a nmD$g nS>Vmo. 
  2) d¥j Amnbr nmZo JmiV ZmhrV åhUyZ dZo H$m¶‘ {hadrJma  
     AgVmV. 
 3) hr ‘Ü¶ A‘o[aH$m d ‘Ü¶ Am{’«$Ho$V AmT>iVmV. 
 4) àXoemV {d{dY àH$maÀ¶m dZñnVr AmT>iVmV. 

Question no. 27 : Which of the following bills cannot be 

introduced in Rajya Sabha first ? 

 1) Financial Bills, Category 'A' 

 2) Ordinance Replacing Bills 

 3) Financial Bills Category 'B' 

 4) Constitution Amendment Bills   
àíZ H«$. 27  : nwT>rbn¡H$s H$moUVr {dYo¶Ho$ amÁ¶g^oV àW‘ ‘m§S>Vm 
¶oV ZmhrV ?  
 1) {dÎm {dYo¶Ho$, loUr 'H$'       
 2) dQ>hÿHy$‘/AÜ¶mXoe à{VñWm{nV H$aUmar {dYo¶Ho$ 
 3) {dÎm {dYo¶Ho$ loUr 'I' 

 4) g§{dYmZ Xþê$ñVr {dYo¶Ho$ 
Question no. 28 : Which of the following five year plan 

had an objective of Inclusive Growth ? 

 1) 10
th

 Plan 2) 12
th

 Plan  3) 9
th

 Plan 4) 11
th

 Plan 

àíZ H«$. 28  :  Imbrbn¡H$s H$moUË¶m n§Mdm{f©H$ ¶moOZoMo gd©g‘mdoeH$ 
d¥{Õ ho C{Ôï> hmoVo ? 
 1) 10 dr ¶moOZm 2) 12 dr ¶moOZm 
 3) 9 dr ¶moOZm 4) 11 dr ¶moOZm 

Question No. 29 : It is easier to roll a stone up a sloping 

road than to lift it vertically upwards because work done 

............ 

 1) in rolling is more than lifting. 

 2) in rolling is equal to that in lifting. 

  3) in rolling is less than in lifting. 

 4) in both is same but the rate of doing work is  

     less in rolling. 

àíZ H«$. 29 : CVaUrÀ¶m añË¶mda EImXm XJS> CÜd© {XeoZo 
CMbÊ¶mnojm T>H$bUo gmono AgVo. H$maU ...... 
 1) da CMbÊ¶mnojm T>H$bÊ¶mgmR>r OmñV H$m¶©e³Vr  
     bmJVo. 
 2) da CMbÊ¶mgmR>r Am{U da T>H$bÊ¶mgmR>r bmJUmao 
     H$m¶© g‘mZM AgVo.  
 3) da CMbÊ¶mnojm T>H$bÊ¶mgmR>r H$‘r H$m¶©e³Vr bmJVo.
 4) XmoÝhr {H«$¶mV g‘mZ H$m¶© hmoVo nU T>H$bÊ¶mgmR>r H$‘r  
     doJmZo H$m¶© hmoVo. 
Question No. 30 : Which of the following country has 

become the first country to withdraw from the International 

Criminal Court (ICC) ? 
 1) South Africa                   2) Burundi         

 3) Botswana  4) Zambia 
àíZ H«$. 30 : Imbrbn¡H$s H$moUVm Xoe Am§Vaamï´>r¶ JwÝhoJmar 
Ý¶m¶mb¶mVyZ (ICC) ‘mKma KoUmam n{hbm Xoe R>abm? 
 1) X{jU Am{’«$H$m     2) ~wê§$S>r  
 3) ~moQ>ñdmZm  4) Pm§{~¶m 

Question no. 31 : What was the main cause for the rise of 

the Vande Mataram Movement ? 

 1) Doctrine of Lapse  

 2) Subsidiary Alliance System   

 3) Division of Madras 

 4) Division of Bengal 

àíZ H«$. 31 : d§Xo ‘mVa‘ MidirÀ¶m CX¶mbm ‘w»¶ H$maU H$moUVo 
hmoVo? 

 1) Imbgm YmoaU 2) V¡ZmVr ’$m¡OoMr ì¶dñWm 
 3) ‘ÐmgMr ’$miUr 4) ~§JmbMr ’$miUr 



5 

Question no. 32 : Read the map and match the following . 

Group I Group II 

A Brisben 

B Kulgardi 

C Perth 

D Canbera 

 1) A-Perth       B-Canbera   C- Brisben  D-Kulgardi 

 2) A- Canbera  B- Brisben C- Kulgardi D- Perth 

 3) A- Brisben B- Perth   C-Canbera D- Kulgardi 

 4) A- Kulgardi B- Perth   C- Brisben D-Canbera 

 
 
 
 
 
àíZ H«$. 32 : darb ZH$memMo dmMZ H$ê$Z ¶mo½¶ OmoS>çm bmdm. 

Group I Group II 

A {~«g~oZ 

B Hw$bJmS>u 
C nW© 
D H°$Z~oam 

 1) A-nW©  B-H°$Z~oam C- {~«g~oZ D-Hw$bJmS>u 

 2) A-H°$Z~oam  B-{~«g~oZ C- Hw$bJmS>u D- nW© 

 3) A-{~«g~oZ  B-nW© C- H°$Z~oam D- Hw$bJmS>u 
 4) A- Hw$bJmS>u  B-nW© C- {~«g~oZ D- H°$Z~oam 

Question no. 33 : Identify the way with which Indian 

Democracy can fight terrorism. 

 1) Citizens should not inform the police. 

 2) Citizens should not support those who don't use 

      violence. 

 3) Citizens should not resort to violence while  

     making their demands. 

 4) None of the above.  
àíZ H«$. 33  : ^maVr¶ bmoH$emhr Á¶mVyZ XheVdmXmMm ‘wH$m~bm H$ê$ 
eHo$b Agm ‘mJ© AmoiIm. 
 1) nmo{bg ¶§ÌUobm ‘m{hVr Z XoUo. 
  2) qhgmMma Z H$aUmè¶m§Zm nmqR>~m Z XoUo. 
 3) Amnë¶m ‘mJÊ¶m emgZmnwT>o R>odVmZm qhgoMm dmna Z H$aUo.
 4) ¶mn¡H$s H$moUVmhr Zmhr. 
Question no. 34 : The basis of determining dearness 

allowance to employees in India is ........ 

 1) National Income 2) Wholesale Price Index 

 3) Standard of living 4) Per Capita income 

 àíZ H«$. 34  :  ^maVmV H$‘©Mmè¶mMm ‘hmJmB© ^Îmm R>a{dÊ¶mMm 
AmYma ......... Amho. 
 1) amï´>r¶ CËnÞ 2) R>moH$ qH$‘V {ZX}em§H$ 
 3) amhUr‘mZ {ZX}em§H$ 4) XaS>moB© CËnÞ 

Question No. 35 : The baby receives 'Y' chromosome from 

.............  

 1) father only 

 2) mother only 

  3) either father or mother 

 4) both father and mother 

 
 

àíZ H«$. 35 : ~mimbm 'Y' a§JgyÌ ................ nmgyZ {‘iVo.  
 1) ’$³V d{S>bm§  
 2) ’$³V AmB©   
 3) d{S>b qH$dm AmB© ¶mn¡H$s H$moUmhr 
 4) d{S>b Am{U AmB© XmoKm§ 
Question No. 36 : Under which article of the Constitution 

of India, the Government of India has constituted a 

commission to examine sub-categorization of OBC in the 

central list ? 
 1) Article 343 2) Article 341 

  3) Article 342  4) Article 340 
àíZ H«$. 36 : ^maVmÀ¶m g§{dYmZmVrb H$moUË¶m H$b‘mÝd¶o ^maV 
gaH$maZo OBC À¶m H|$Ðr¶ ¶mXrVrb Cn-dJuH$aUmMo narjU 
H$aÊ¶mgmR>r Am¶moJmMr ñWmnZm Ho$br ?  
 1) H$b‘ 343  2) H$b‘ 341 
  3) H$b‘ 342  4) H$b‘ 340 

Question no. 37 : On 5
th

 Oct. 2017, where did the UN 

Soldiers finish their 13 years military peace keeping 

mission? 

 1) Jamaica  2) Bahamas 3) Haiti  4) Puerto Rico 

àíZ H«$. 37 : 5 Am°³Q>mo~a 2017 bm amï´>g§KmÀ¶m goZoZo 13 dfm©À¶m 
em§VVm ajU A{^¶mZmMm eodQ> H$moR>o Ho$bm ? 

 1) O‘¡H$m  2) ~hm‘m 3) h¡Vr 4) nmoVw©[aH$mo 
Question no. 38 : Arrange the sequence of port from South 

to North. 

 1) Nagapatpatanam, Kochi, Thriuananthapuram,  

          Tuticorin 

 2) Kochi, Nagapatpatanam, Thriuananthapuram,  

     Tuticorin 

 3) Thriuananthapuram, Tuticorin, Nagapatpatanam,   
     Kochi,  
 4) Thriuananthapuram, Tuticorin, Kochi,  

     Nagapatpatanam 

àíZ H«$. 38 : Imbrb ~§Xam§Mm X{jUoH$Sy>Z CÎmaoH$S>o H«$‘ bmdm. 
 1) ZmJmnÅ>U‘², H$moMr, {Vê$AZ§Vnya‘², Vw{VH$mo[aZ 
 2) H$moMr, ZmJmnÅ>U‘²,{Vê$AZ§Vnya‘², Vw{VH$mo[aZ 
 3) {Vê$AZ§Vnya‘², Vw{VH$mo[aZ, ZmJmnÅ>U‘², H$moMr 
 4) {Vê$AZ§Vnya‘², Vw{VH$mo[aZ, H$moMr, ZmJmnÅ>U‘², 

Question no. 39 : Identify the Descending order of the age 

required for eligibility. 

i)  Minimum age required to become eligible to contest 

 Rajyasabha Election. 

ii)  Minimum age to get Right to Vote in India. 

iii) Minimum age required to contest election for the post of 

 President of India. 

iv) Minimum age requirement as eligibility to contest 

 Loksabha Election. 

àíZ H«$. 39 : nmÌVogmR>r d¶mÀ¶m AQ>rÀ¶m g§X^m©V CVaVm H«$‘ 
AmoiIm. 
i)  amÁ¶g^oÀ¶m gXñ¶ËdmÀ¶m {ZdS>UwH$sgmR>r nmÌVoMo {H$‘mZ d¶.  
ii)  ̂ maVmV ‘VXmZmgmR>r nmÌVoMo {H$‘mZ d¶. 
iii) ^maVmÀ¶m amḯ>nVrnXmgmR>rÀ¶m {ZdS>UwH$sH$aVm nmÌVoMo {H$‘mZ d¶. 
iv) bmoH$g^m gXñ¶ËdmÀ¶m {ZdS>UwH$sgmR>r nmÌVoMo {H$‘mZ d¶.   
 1) i), ii), iii), iv) 2) iii), i), iv), ii) 

 3) iii), ii), i), iv) 4) iii), i), ii), iv) 
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Question no. 40 : Goal two of Sustainable Development 

Goals includes : 

 1) Zero hunger, food security, nutrition and  

     sustainable agriculture. 

 2) End poverty, food security, sustainable  

     agriculture and foreign aid. 

 3) Sustainable agriculture, clean energy, nutrition  

     and food security. 

 4) Responsible consumption, food security, clean  

      energy and end poverty.  

àíZ H«$. 40 : emídV {dH$mg C{Ôï>m§‘Ü¶o, C{Ôï>o XmoZ ¶m‘Ü¶o 
Imbrbn¡H$s H$emMm A§V^m©d hmoVmo ?  

 1) eyÝ¶ ŷH$, AÞ gwajm, nmofU Am{U emídV eoVr 
 2) Xm[aÐ¶mMm A§V, AÞ gwajm, emídV eoVr Am{U {dXoer  
     (naH$s¶)‘XV 
 3) emídV eoVr, ñdÀN> COm©, nmofU Am{U AÞ gwajm 
 4) O~m~Xma Cn^moJ, AÞ gwajm, ñdÀN> COm© Am{U  
     Xm[aÐ¶mMm A§V 

Question No. 41 : Match the pairs. 

Inert gases Uses 

A) Helium (i) treatment of cancer 

B) Neon (ii) meteorological observations 

C) Radon (iii) glow sign 

àíZ H«$. 41 : OmoS>çm Owidm.  

dm¶y Cn¶moJ 

A) ho{b¶‘ (i) H$H©$amoJmda CnMma 

B) {ZAm°Z (ii) hdm‘mZ{df¶H$ {ZarjUo 

C) aoS>m°Z (iii)  M‘H$Xma Om{hamVr 
 1) A–iii, B–i, C–ii 2) A–ii, B–iii, C–i 

  3) A–ii, B–i, C–iii 4) A–i, B–iii, C–ii 

Question no. 42: Which Chinese Buddhist Pilgrim came to 

India during the period of Chandragupta II Vikramaditya ? 

 1) Itsing  2) Hieun Tsang  3) Fahien   4) Yi Jing 

àíZ H«$. 42 : M§ÐJwá II  {dH«$‘m{XË¶À¶m H$mimV H$moUVm {MZr ~wÕ 
¶mÌoH$ê$ ^maVmV Ambm hmoVm ? 

 1) BVqgJ  2) h¶w EÝg§J 3) ’$m{hZ 4) ¶r Ow§J 
Question no. 43 : Which of the following is a correct 

sequence of the of tributaries meeting Ganga from source to 

mouth? 

 1) Ghagara,   Son,  Kosi,  Mahananda 

 2) Son,    Ghagara,  Mahananda,   Kosi 

 3) Mahananda,  Son,  Ghagara,   Kosi 

 4) Ghagara, Mahananda, Kosi, Son 

àíZ H«$. 43 : J§Jm ZXrbm CJ‘mH$Sy>Z ‘wImH$S>o {‘iUmè¶m CnZÚm§Mm 
¶mo½¶ H«$‘ H$moUVm ?  
 1) KmJam, gmoZ, H$mogr, ‘hmZ§Xm 
 2) gmoZ, KmJam, ‘hmZ§Xm, H$mogr 
 3) ‘hmZ§Xm, gmoZ, KmJam, H$mogr 
 4) KmJam, ‘hmZ§Xm, H$mogr, gmoZ 
Question No. 44 : Girija Devi, who passed away, at the age 

of 88, on 24
th

 October 2017, belonged to which of the 

following gharana of music ? 
 1) Gwalior and Kirana   

 2) Seniya and Banaras 

 3) Patiyala and Bhendi Bazaar 

  4) Atrauli and Agra 

àíZ H«$. 44 : {JarOm Xodr, Á¶m§Mo 24 Am°³Q>mo~a 2017bm d¶mÀ¶m 
88 ì¶m dfu {ZYZ Pmbo Ë¶m Imbrbn¡H$s H$moUË¶m KamÊ¶mÀ¶m Jm{¶H$m 
hmoË¶m? 

 1) ½dm{b¶a Am{U {H$amUm 2) go{Z¶m Am{U ~Zmag 
  3) n{V¶mim Am{U |̂S>r~mOma 4) AÌm¡br Am{U AmJ«m 
Question no. 45 : Which of the following statements 

related to the post of Governor is incorrect?  

A) Indian Citizen can contest the post for Governor of a 

 state. 

B) A person of the same state is not appointed as a 

 Governor of that state. 

C)  Ordinance issued by a Governer carries same weight of 

 the law. 

D) Governor keeps President informed about conditions in 

 the state. 

 1) B 2) C 3) A 4) D  
àíZ H«$. 45  : nwT>rbn¡H$s H$moUVo {dYmZ amÁ¶nmbm§À¶m ~m~VrV 
A¶mo½¶ Amho ?  
A) amÁ¶nmb nXmgmR>r ^maVr¶ $ì¶³Vr {ZdS>UyH$ bT>dy eH$Vo. 
~) H$moUË¶mhr ì¶³VrMr {VÀ¶mM amÁ¶mV amÁ¶nmb åhUyZ Zo‘UyH$ 
 Ho$br OmV Zmhr. 
H$) amÁ¶nmbmZr H$mT>boë¶m dQ>hþHw$‘mbm H$m¶ÚmBVHo$ ‘hËd AgVo. 
S>) amÁ¶mVrb n[apñWVr~m~V amÁ¶nmb amï´>nVtZm ‘m{hVr XoVmV. 
 1) ~   2) H$ 3) A  4) S> 
Question No. 46 : Wintergreen oil is chemically .............  

 1) Acetyl salicylic acid 2) Ethyl salicylate 

  3) Benzoyl acetate 4) Methyl salicylate 

àíZ H«$. 46 : qdQ>aJ«rZ Vob åhUOo amgm¶{ZH$ÑîQ>çm ............ Amho.  
 1) A°{gQ>mB©b g°{b{g{bH$ A°{gS>  2) E{Wb g°{b{gboQ> 
   3) ~|Pm°Bb A°{gQ>oQ>     4) ‘o{Wb g°{b{gboQ> 

Question no. 47 : The operational name of the Indian 

Regional Navigation Satellite System (IRNSS) is ...... 

àíZ H«$. 47 : ^maVr¶ {d^mJr¶ Zm¡H$mZ¶Z CnJ«h ì¶dñWoMo 
(IRNSS) Zoh‘rÀ¶m dmnamVrb Zmd ....... Amho. 

 1) NAVIC   2) PRAVAH   

 3) GATIMAAN  4) DIGHDARSHAK 

Question no. 48 : Shaded area shown in the map is a 

grassland of ............ 

 1) Prairy 2) Pampas 3) Steps 4) Towns 

 

 

 

 

 

 

 

 

 

àíZ H«$. 48 : ZH$memVrb N>m¶m§{H$V Ho$bobm àXoe ........ JdVmi 
àXoe Amho. 
 1) àoAar 2) n§nmO 3) ñQ>oßg 4) S>mD$Ýg 
Question no. 49 : In India, the main source of National 

Income is ........ 

 1) Primary Sector 2) Secondary Sector  

 3) Tertiary Sector 4) Foreign Sector  
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àíZ H«$. 49  :  ^maVmVrb amḯ>r¶ CËnÞmMo ‘w»¶ ómoV .......... Amho. 

 1) àmW{‘H$ joÌ 2) {ÛVr¶H$ joÌ 

 3) V¥Vr¶H$ joÌ 4) {dXoe joÌ 

Question no. 50 : Which of the following is a correct 

statement ? 

a) Election Commission of India(ECI) is a multi-member 

body from the begining. 

b) The decisions taken by ECI are always unaimous. 

 1) b 2) a          3) both      4) None of them.  
àíZ H«$. 50  : Imbrbn¡H$s H$moUVo {dYmZ gË¶ Amho ? 

A) ^maVmÀ¶m {ZdS>UyH$ Am¶moJ gwadmVrnmgyZ ~hwgXñ¶r¶ g§ñWm Amho. 
~) {ZdS>UyH$ Am¶moJmMo {ZU©¶ ho Zoh‘rM EH$‘VmZo KoVbo OmVmV. 
 1) ~  2) A      3) XmoÝhr    4) H$moUVohr Zmhr. 

 

 

PART – II / ^mJ - 2 

 

Question nos. 51 to 53 : Read the following passage and 

answer the questions that follow – 

 The steamship Rangoon was a fast as the Magnolia, but 

not as comfortable. During the first part of the journey to 

Hong Kong, which was three thousand five hundred miles, 

the weather was very good and the ship sped along.  

 Mrs. Aouda came to know Mr Fogg. She was very 

grateful to him for what he had done for her. When Mr 

Fogg listened to her conversation he never showed any sign 

of emotion. He was always careful to see that she had 

everything she wanted. At certain hours he came regularly 

to either talk with her, or just listen to her. He was always 

polite but seemed to behave more like a machine than a 

man. Mrs Aouda did not know what to think of him. 

Luckily, Passepartout explained to her what sort of 

character his master was. He told her of the bet which was 

taking them around the world. Mrs Aouda had smiled when 

she heard that. She felt that since she owed her life to this 

strange man, he could not lose his bet. 

51 : Mrs Aouda was grateful to Mr Fogg because ..... 

 1) he had saved her life. 

 2) he listened to her conversation. 

 3) he never showed any sign of emotion.  

 4) he always provided her with all that she wanted. 

52 : When Mrs Aouda heard about the bet .... 

 1) She thought it was funny. 

 2) She was sure he would win it. 

 3) She wanted him to win it.  

 4) She thought he was a strange man. 

53 : The steamship Magnolia was ..... 

 1) as fast and as comfortable as the Rangoon. 

 2) faster and more comfortable than the Rangoon. 

 3) as fast but more comfortable than the Rangoon.  

 4) as fast but less comfortable than the Rangoon. 

àíZ H«$. 51 Vo 53 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m Imbr 
{Xboë¶m àíZm§Mr CÎmao Úm. 
 a§JyZ AmJ~moQ> ‘°¾mo{b¶m AmJ~moQ>rEdT>r ObX hmoVr nU ‘°¾mo{b¶m 
EdT>r Amam‘Xm¶H$ ZìhVr. {VÀ¶m hm±JH$m±J À¶m 3500 ‘¡bm§À¶m 
àdmgmÀ¶m n{hë¶m ^mJmV hdm‘mZ A{Ve¶ Mm§Jbo hmoVo Am{U AmJ~moQ> 
^a^a YmdV hmoVr.  
 gm¡ Am¡Xm ¶m§Mm lr ’$m°J ¶m§À¶mer n[aM¶ Pmbm. Ë¶m§Zr {VÀ¶mgmR>r 
Oo H$mhr Ho$bo hmoVo Ë¶m~Ôb Vr ’$ma F$Ur hmoVr. Ooìhm lr. ’$m°J {VMo 

g§^mfU EoH$m¶Mo Voìhm Vo H$Yrhr Amnë¶m ^mdZm àX{e©V H$aV ZgV. 
{Vbm hì¶m Agboë¶m Jmoï>r doioda {Vbm {‘iVmV H$s$ Zmhr ¶m~Ôb Vo 
H$miOr KoV. R>am{dH$ doir Vo {Z¶{‘VnUo {VÀ¶mer ~mobm¶bm ¶oV qH$dm 
’$³V {VÀ¶m{df¶r EoH$m¶bm ¶oV. Vo Zoh‘r Z‘«nUo dmJV na§Vw 
‘mUgmnojm EImÚm ¶§Ìmà‘mUo dmJV. Ë¶m§À¶m{df¶r gm¡ Am¡Xm§Zm 
H$moUVmhr VH©$ bmdVm ¶oV Zgo. Z{e~mZo nmgnQ>m©CQ>Zo Ë¶mMm ‘mbH$ 
H$em ñd^mdmMm Amho ¶m{df¶r {Vbm ñnï> gm§{JVbo Ë¶mZo {Vbm 
gm§{JVbo H$s$ Aer EH$ n¡O Amho H$s$Or Ë¶m§Zm OJ^a KoD$Z OmV 
hmoVr. gm¡ Am¡Xm ¶m§Zr Ooìhm Vo EoH$bo Voìhm Ë¶m hgë¶m. Ë¶m§Zm dmQ>bo 
H$s$ ¶m ‘mUgm‘wioM Amnë¶mbm OrdZ {‘imbo Am{U hm ‘mUyg H$Yrhr 
n¡O haUma Zmhr.  
51 : gm¡ Am¡Xm lr ’$m°JÀ¶m ’$ma F$Ur hmoË¶m H$maU ... 
 1) Ë¶mZo Ë¶m§Mo àmU dmMdbo hmoVo. 
 2) Vo Ë¶m§Mo g§^mfU EoH$V AgV. 
 3) Ë¶m§Zr H$Yr Amnë¶m ^mdZm àX{e©V Ho$ë¶m ZmhrV. 
 4) Ë¶m§Zm hì¶m Agboë¶m Jmoï>r Vo Ë¶m§Zm nwadV AgV. 
52 : gm¡. Am¡Xm§Zr Ooìhm n¡Oo{df¶r EoH$bo Voìhm... 
 1) Ë¶m§Zm H$mhrVar {d{MÌ dmQ>bo. 
 2) lr ’$m°J Vr n¡O qOH$Vrb ¶mMr Ë¶m§Zm ImÌr hmoVr. 
 3) ’$m°JZo Vr n¡O qOH$mdr Ago Ë¶m§Zm dmQ>bo. 
 4) Ë¶m§Zm dmQ>bo H$s hm ‘Zwî¶ H$mhrVar {d{MÌ Amho. 
53 : ‘°¾mo{b¶m AmJ~moQ> ..... 
 1) a§JyZ ~moQ>r BVH$sM ObX Am{U Amam‘Xm¶H$ hmoVr. 
 2) a§JyZ ~moQ>rnojm A{YH$ ObX Am{U Amam‘Xm¶H$ hmoVr. 
 3) a§JyZ ~moQ>r BVH$sM ObX na§Vw a§JyZ ~moQ>rnojm A{YH$  
     Amam‘Xm¶H$ hmoVr. 
 4) ObX nU a§JyZ ~moQ>rnojm H$‘r Amam‘Xm¶H$ hmoVr. 
Question nos. 54 to 56 : Read the following passage and 

answer the questions that follow – 

 Dr. Kiran Bedi is the first lady to qualify for the Indian 

Police Service (IPS). The qualities of honesty, courage, 

empathy for fellow humans, hard work, determination and 

patriotism are the ones that personify this unique woman. 

 Bedi had a hard time getting her way through the male 

dominated profession. She saw in her role as a police 

officer an opportunity to help the people, to show them the 

way to a better life. She applied this philosophy at every 

stage of her career as a traffic cop, an anti-narcotics cell 

officer, an anti-terrorist specialist, and an administrator. 

 Bedi did not fear anybody. To her the law was the same 

for all, be it the President of India or a commoner. It is said 

that she once towed Prime Minister Indira Gandhi’s car for 

parking violation while she was on the way to the United 

Sates. 

 The greatest challenge to her philosophy came in 1994 

when she was promoted to the rank of Inspector General of 

Prisons and given the responsibility of managing the largest 

and most notorious prison in the Asia Pacific region – Tihar 

Jail in Delhi where the inmates numbered about 8,500. She 

would shock prisoners by personally visiting them, talking 

and listening to them. 

 Bedi can be rightly acclaimed as the woman who 

scrubbled the dirt off the khaki of the police force by 

establishing herself and her life as an example worthy of 

emulation. 

54 : The word closest in meaning to 'male dominated' is ... 

 1) authoritarian 2) matriarchal 

 3) paternal   4) patriarchal 
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55 : What does the expression 'scrubbing of the dirt' mean ? 

 1) make clean. 2) made blame free. 

 3) do hard work. 4) work to sincerely. 

56 : What philosophy did Dr. Bedi apply at every stage of 

her life ? 

 1) to be strict and dedicated to work. 

 2) to be humble to all. 

 3) to be successful and powerful. 

 4) to help people towards a better life. 

àíZ H«$. 54 Vo 56 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m Imbr 
{Xboë¶m àíZm§Mr CÎmao Úm. 
 S>m°. {H$aU ~oXr ¶m ^maVr¶ nmo{bg XbmVrb (IPS) n{hë¶m ‘{hbm 
A{YH$mar hmoV. IaonUm, YmS>g, g{hîUwVm, H$ï>miynUm, ÑT>{ZíM¶rnUm 
d Xoeào‘ hr ¶m A{ÛVr¶ órMr JwUbjUo. 
 ¶m nwéfàYmZ ì¶dgm¶mV Amnbr dmQ> emoYUo ho Vgo ~oXtZm 
AdKS>M hmoVo. na§Vw Amnë¶m nmo{bg A{YH$mè¶mÀ¶m ^y{‘Ho$V Ë¶m§Zr 
bmoH$m§Zm ghmæ¶ H$aÊ¶mMr d bmoH$m§Zm Am¶wî¶ gwYmaÊ¶mgmR>r dmQ> 
XmIdÊ¶mMr g§Yr nm{hbr. hoM VËd Ë¶m§Zr Amnë¶m ì¶dgm¶mÀ¶m 
àË¶oH$ Q>ßß¶mda åhUOo dmhVwH$ A{YH$mar, A§‘br nXmW© {damoYr 
XbmVrb A{YH$mar, AmV§H$ {damoYr {dfoek d àemgH$ AgVmZm 
Omonmgbo. 
 ~oXtZm H$moUmMrhr ^rVr ZìhVr. H$maU H$m¶Xm hm gdmªgmR>r 
gmaImM AgVmo, ‘J Vo amḯ>nVr AgmoV dm Vmo gm‘mÝ¶ ‘mUyg Agmo. 
Ago gm§JVmV H$s IwÔ n§VàYmZ lr‘Vr B§{Xam Jm§Yr EH$Xm A‘o[aHo$bm 
{ZKmë¶m AgVm Ë¶m§Mr MwH$sÀ¶m {R>H$mUr C^r Ho$bobr JmS>r Ë¶m§Zr 
CMbyZ Zobr. 
 Ë¶m§À¶m VËdmbm Iao AmìhmZ 1994 ‘Ü¶o Ë¶m§Zm nmo{bg 
‘hm{ZarjH$ (Vwé§J) åhUyZ ~T>Vr Pmë¶mda {‘imbo. H$maU Ë¶m§Zm 
Am{e¶m I§S>mVrb gdm©V ‘moR>çm d gdm©V Hw${d»¶mV Vwé§JmMr O~m~Xmar 
XoÊ¶mV Ambr - Vo åhUOo {X„rMo {Vhma H$mamJ¥h, OoWo 8,500 H¡$Xr 
hmoVo. ~oXr Ooìhm H¡$Úm§Zm ñdV: ôQy>Z, Ë¶m§À¶mer ~mobyZ, Ë¶m§Mo åhUUo 
EoHy$Z KoV Voìhm H¡$Úm§Zm Y¸$mM ~gV Ago. 
 Á¶m§Zr nmo{bgXbmVrb ImH$s dXudarb Yyi PQ>H$br, Á¶m§Zr 
ñdV…Mo EH$ doJio ñWmZ {Z‘m©U Ho$bo Am{U ñdV…Mo OrdZ EH$ 
AZwH$aUr¶ Ho$bo Aem ñÌr åhUyZ {H$aU ~oXtMm O¶O¶H$ma H$aUoM 
¶mo½¶ R>aob. 

54 : Imbrbn¡H$s H$moUVm eãX ‘nwê$f àYmZ’ ¶m eãXmer gdm©V 
OmñV {ZJS>rV Amho? 
 1) A{YH$mad¥Îmr JmOdUmam. 2) ‘mV¥ àYmZ. 
 3) d{S>bm{YH$ma. 4) Hw$Qw>§~ nwê$f àYmZ. 

55 : ‘Yyi PQ>H$Uo’ åhUOo ...... 

 1) ñdÀN> YwUo.  2) Xmof‘w³V H$aUo. 

 3) A{Ve¶ H$ï> H$aUo. 4) àm‘m{UH$nUo H$m‘ H$aUo. 

56 : Amnë¶m Am¶wî¶mÀ¶m àË¶oH$ Q>ßß¶mV H$moUVo VËdkmZ dmnabo? 

 1) {eñV{n«¶ AgUo Am{U H$m‘mbm g§nyU© dmhÿZ KoUo. 

 2) gdmªer Z‘«VoZo dmJUo. 

 3) ¶eñdr hmoUo Am{U A{YH$ A{YH$ma dmnaUo. 

 4) Mm§Jbo Am¶wî¶ OJÊ¶mgmR>r bmoH$m§Zm ‘XV H$aUo. 
Question nos. 57 to 59 : Read the following passage and 

answer the questions that follow – 

 What is discipline after all? it is expending time and 

energy trying not to do the things you really want to do. Or, 

forcing yourself to do something that your mind and body 

rebel against. There are some things that must be done even 

if you force yourself to do them for the sake of your own 

growth, health and hygiene, or for general sociability and 

compatibility with fellow beings. Once that is taken care of, 

I find externally imposed discipline to be just an albatross 

around the neck. It puts me of rather than gets me into 

doing something. This however does not mean that I give 

any less energy, attention and passion to what I do, or that I 

ignore tasks that I set myself or the world sets for me. It just 

means that rather than disciplining myself into doing tasks, 

I look for and connect with aspect that excite me arouse my 

passion if such element are not to be found, I try to infuse 

the same and end up creating a passionate affair with every 

task that comes my way. And with this the task rather than 

a must do becomes a love to do. Dreams and aspirations to 

me are greater motivators and means of achieving goals 

rather than dreaded discipline. My dreams should be such a 

compelling motivator  that I should be seduced to working 

towards it. In this way I would enjoy the journey as well as 

the destination. We all need motivation to achieve anything 

be it a better physique, climbing a mountain, writing a 

book, earning money or success, gaining power, becoming 

a world-class sportsperson or the world’s best homemaker. 

Discipline is required if the motivation isn’t strong enough. 

And  if that is so, it means the dream is not compelling 

enough; we are probably dreaming the wrong dream. Why 

should one have to be flogged (read disciplined) into 

pursuing one’s own dream. 

57 : Externally imposed discipline can be .... 

 1) an albatross around a neck. 

 2) beneficial for your growth health and hygiene. 

 3) helpful for general sociability and compatibility. 

 4) none of the above. 

58 : In the writer's opinion, true discipline means.......  

 1) forcing yourself to do things you don't like. 

 2) creating a passionate affair with every task that 

comes in a way. 

 3) doing things because they are must. 

 4) motivators for earning money, success, power. 

59 : Why are our dreams meaningful ? 

 1) They are greater motivators and means of 

achieving our goals. 

 2) We can achieve anything with our dreams. 

 3) Dreams reveal who we truly are. 

 4) They help us to bring discipline in our lives. 

àíZ H«$. 57 Vo 59 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m Imbr 
{Xboë¶m àíZm§Mr CÎmao Úm. 
 {eñV åhUOo Z¸$s H$m¶ Amho? {eñV åhUOo Amnbm doi Am{U 
e³Vr Aem Jmoï>r H$aÊ¶mV IM© H$aUo H$s Á¶m AmnUmbm H$amì¶mem 
dmQ>V ZmhrV qH$dm Ago H$mhr H$aÊ¶mg ñdV:bm ^mJ nmS>Uo H$s 
Á¶m{déÕ Amnbo ‘Z d ~wÕr ~§S> H$aVo. na§Vw Aem H$mhr Jmoï>r AgVmV 
Á¶m Amnë¶mbm O~aXñVrZo H$am¶bmM bmJVmV Á¶m§Mm g§~§Y Amnë¶m 
{dH$mgmer, Amamo½¶mer qH$dm dmT>rer AgVmo qH$dm Amnë¶m 
g‘mOrH$aUmer d AZwénVoer AgVmo. EH$Xm ¶mMr H$miOr KoVbr H$s 
‘J ~mhoê$Z bmXbobr {eñV ‘bm Jù¶mV AS>H$boë¶m Aë~Q´>mog 
nú¶mgmaIr dmQ>Vo. Aer {eñV àmoËgm{hV H$arV Zmhr, CbQ> {ZameM 
H$aVo. ¶mMm AW© Agm Zìho H$s ‘r ‘mÂ¶m H$m‘mgmR>r H$‘r doi XoVmo 
qH$dm Ë¶mH$S>o H$‘r bj XoVmo qH$dm Ë¶mV H$‘r ag XmI{dVmo qH$dm 
BVam§Zr {Xboë¶m dm ñdV: R>adyZ KoVboë¶m H$m‘mMr Cnojm H$aVmo. ¶mMm 
AW© Ho$di EdT>mM H$s ‘r H$m‘mÀ¶m Aem n¡bw§er ñdV:bm OmoSy>Z KoVmo 
Oo ‘bm amo‘m§MH$mar d AmdS>rMo dmQ>VmV Am{U Aem n¡by§Mm H$m‘m‘Ü¶o 
g‘m{dï> H$éZ ‘mPo H$m‘ AmdS>rMo ~ZyZ OmVo. Ago Ho$ë¶mZo Hw$R>bohr 
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H$m‘ “Ho$boM nm{hOo” Ago Z ~ZVm “AmdS>rMo H$m‘” ~ZyZ OmVo. 
ñdßZ d ‘hÎdmH$m§jm ‘mÂ¶mgmR>r ^¶mZH$ dmQ>Umè¶m {eñVrnojm A{YH$ 
àoaUmXm¶r d Ü¶o¶nyVuMr ‘moR>r gmYZo dmQ>VmV. ‘mPo ñdßZM ‘mÂ¶mgmR>r 
BVHo$ O~aXñV àoaH$ nm{hOo H$s ‘r ñdV:hÿZ Ë¶m H$m‘mÀ¶m ào‘mV 
nS>bmo nm{hOo. Aem àH$mao ‘r Ü¶o¶nyVuMm àdmg d eodQ> ¶m XmoÝhtMm 
AmZ§X KoD$ eHo$Z. OrdZm‘Ü¶o Hw$R>brhr Jmoï> {‘i{dÊ¶mgmR>r àoaUm 
bmJVo, ‘J Vo Mm§Jbo ñdmñÏ¶ Agmo, nd©V MT>Uo Agmo, EImXo nwñVH$ 
{b{hUo Agmo, n¡gm, gÎmm qH$dm ¶e {‘idUo Agmo H$s OmJ{VH$ XOm©Mm 
IoimSy> ~ZUo Agmo. {eñVrMr JaO Voìhm nS>Vo Ooìhm àoaUm hr åhUmdr 
VodT>r Vrd« ZgVo Am[U Oa Vgo Agë¶mg Ë¶mMm AW© Agm H$s Vw‘Mo 
ñdßZM Hw$R>oVar H$‘r nS>V Amho. EImÚmbm Ë¶mÀ¶m ñdßZnyVugmR>r 
Mm~H$mMm ‘ma ({eñV) H$m Úmdm bmJmdo ~ao? 
57 : ~mhoê$Z bmXbobr {eñV .... 
 1) Jù¶mV AS>H$boë¶m Aë~Q´>m°g njmgmaIr dmQ>Vo. 
 2) Amnë¶m {dH$mg, Amamo½¶ d dmT>rgmR>r Cn¶w³V R>aVo. 
 3) gm‘m{OH$sH$aU d AZwê$nVogmR>r ‘XVrMo R>aVo. 
 4) darbn¡H$s H$moUVoM Zmhr. 
58 : boIH$mÀ¶m ‘Vo Iar {eñV åhUOo ..... 
 1) Amnë¶mbm AmdS>V Zmhr Aer Jmoï> H$aUo. 
 2) g‘moa Amboë¶m àË¶oH$ H$m‘mbm amo‘m§MH$ Am{U AmdS>rMo 

~ZdUo. 
 3) JaOoMr Amho åhUyZ EImXo H$m¶© H$aUo. 
 4) n¡gm, gÎmm d ¶e {‘idÊ¶mgmR>r Agbobr àoaUm. 
59 : Amnbr ñdßZ AW©nyU© AmhoV H$maU ..... 
 1) Vr A{YH$ àoaUmXm¶H$ AgVmV Am{U Amnbo Ü¶o¶ gmÜ¶ 

H$aÊ¶mgmR>r Vr ‘XV H$aVmV. 
 2) Amnë¶m ñdßZm§X²dmao AmnU H$mhrhr gmÜ¶ H$ê$ eH$Vmo. 
 3) AmnU Iè¶m AWm©Zr H$moU AmhmoV ho Amnbo ñdßZ 

Amnë¶mbm XmIdyZ XoVo. 
 4) Vr Amnë¶m OrdZmV {eñV AmUm¶bm ‘XV H$aVmV. 
Question nos. 60 to 62 : Read the following passage and 

answer the questions that follow – 

 One of the greatest delusions of modern times is the 

prevailing belief that we are more civilized than our 

ancestors. At no other period in the history of mankind has 

the word ‘Civilization’ been so often misused and 

misunderstood. It is not in the abundance of material goods 

alone that civilization lies. Neither does it consist in the 

advance of scientific knowledge however amazing it may 

be. The inventions and discoveries of science have 

undoubtedly brought unheard blessings and comforts to us. 

But they are not civilization. What we have failed to see is 

that civilization is a special way of human behaviour, of 

thought and feeling. The essential quality of civilization lies 

in the spirit of man, in his attitude to himself, to his 

fellowmen and to life as a whole. Looking everywhere 

around us today, we will find that man has made no 

progress since the dawn of history, in his attitude towards 

his fellowmen. On all the highest pillars in the cities of the 

world, you will find the figure of a conqueror or a general 

soldier. We know more about our killers and destroyers 

than about our saviours and saints. The heroes of the world 

are the heroes of war. 
60 :Choose the correct synonym for 'prevailing'. 

 1) strong 2) confasing 3) existing 4) idiotic 

61 : Who are the heroes of the modern world ?  
 1) Saints  2) Destroyers 

 3) Common man 4) God 

62 : Why were our ancestors more civilised than us ? 

 1) They did not encourage scientific pursuits.  

 2) They had less population. 

 3) They did not worry too much.  

 4) They were more humane.  
àíZ H«$. 60 Vo 62 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m Imbr 
{Xboë¶m àíZm§Mr CÎmao Úm. 
 AmYw{ZH$ H$mimVrb EH$ gdm©V ‘moR>m ^«‘ åhUOo gÜ¶m àM{bV 
Agbobo ‘V H$s AmnU Amnë¶m nyd©Om§nojm OmñV gwg§ñH¥$V AmhmoV. 

‘mZd B{VhmgmVrb H$moUË¶mhr H$mimV ‘g§ñH¥$Vr’ øm eãXmMm EdT>m 
J¡admna d ømÀ¶m{df¶r BVH$m J¡ag‘O Pmbm Zgob. g§ñH¥$Vr åhUOo 
Ho$di ^m¡{VH$ ‘mb‘ÎmoMr aobMob Zìho qH$dm d¡km{ZH$ kmZmVrb àJVr 
{H$Vrhr AX²^yV Agbr Var Vrhr Zìho. {dkmZmVrb emoYm§Zr {Zg§Xoh 
Amnë¶m Am¶wî¶mV H$Yr Z EoH$boë¶m gw{dYm d Amam‘ AmUbo AmhoV. 
na§Vw ¶mhr Jmoï>r åhUOo g§ñH¥$Vr Zìho. Oo AmnU bjmV KoV Zmhr Vo ho 
H$s g§ñH¥$Vr åhUOo dmJUyH$sMr, {dMmam§Mr d ^mdZm§Mr EH$ {d{eï> 
nÕV. g§ñH¥$VrMm ‘yb ŷV Y‘© hm ‘mZdmÀ¶m àH¥$VrV, Ë¶mÀ¶m 
ñdV:{df¶rÀ¶m d¥ÎmrV, Amnë¶m gmo~Ë¶m{df¶rÀ¶m d¥ÎmrV Am{U IwÔ 
Am¶wî¶m{df¶rÀ¶m d¥ÎmrV AgVmo. Amnë¶m AmOy~mOybm nm{hbo AgVm 
Ago {XgVo H$s B{VhmgmÀ¶m àma§^mnmgyZ ‘Zwî¶mZo gmo~Ë¶m§{df¶rÀ¶m 
d¥ÎmrV H$mhrhr àJVr Ho$bobr Zmhr. OJmVrb eham§À¶m gd© C§M C§M 
Im§~m§da ¶wÕmVrb {dOoË¶m§Mo qH$dm g¡{ZH$m§Mo nwVio AmT>iVmV. 
Amnë¶mVrb ÌmVo d gmYy g§V ¶m§À¶mnojm OmñV ‘m{hVr Amnë¶mbm 
Amnë¶mVrb ‘maoH$ar d {dÜd§gH$ ¶m§À¶m {df¶r AgVo. OJmMo aUYra 
åhUOo ’$³V ¶wÕmVrb aUeya ‘mZbo AmhoV. 
60 : 'àM{bV' ¶m eãXmgmR>r g‘mZmWu eãX emoYm. 
 1) VmH$VdmZ  2) «̂m‘H$ 
 3) ApñVËdmV Agbobm 4) doS>ga 
61 : AmYw{ZH$ OJmVrb Wmoa bmoH§$ H$moU ?  
 1) gmYy g§V  2) {dÜd§gH$ 
 3) gd© gm‘mÝ¶ ‘mUyg 4) na‘oída 
62 : Amnbo nyd©O Amnë¶mnojm A{YH$ gwg§ñH¥$V H$go ?  
 1) Ë¶m§Zr d¡km{ZH$ ‘mJ© Adb§~bm Zmhr. 
 2) Ë¶m§Mr bmoH$ g§»¶m H$‘r hmoVr. 
 3) Ë¶m§Zr ’$maer H$emMr ndm© Ho$br Zmhr. 
 4) Ë¶m§Zm A{YH$ ‘mUwgH$s hmoVr. 
Question no. 63 : In a certain code language 

ADVANTAGES is written as AVDATNSEGA, then how 

will the word COMPUTRONE be written in the same code 

language?  

àíZ H«$. 63 : EH$m gm§Ho${VH$ ^mfoV ADVANTAGES hm eãX 
AVDATNSEGA Agm {b{hbm OmVmo Va Ë¶mM gm§Ho${VH$ ^mfoV 
COMPUTRONE hm eãX H$gm {b{hbm OmB©b ? 

 1) PMCOTUEONR 2) ENORTUPMOC 

 3) PMOCTUENOR 4) ENORUTPMOC 

Question No. 64 and 65: Which alternative will appear at 

the question mark in the given numerical series ? 

àíZ H«$. 64 Am{U 65 : {Xboë¶m gm§p»¶H$ loUr‘Ü¶o H$moUVm n¶m©¶ 
àíZ{MÝhmÀ¶m OmJr ¶oB©b? 

64 :  2, 6, 10, 50, 56, 392, ? 

1) 402 2) 400 

3) 3136 4) None of the above / darbn¡H$s Zmhr 

65 :    3, 10, 29, 66, 127, ? 

1) 216 2) 220 3) 187 4) 218 
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Question No. 66 : A result of survey of 1000 persons with 

respect to their knowledge of Hindi (H), Sanskrit (S) and 

English (E) is given below. 

What is the ratio of those who know all the three languages 

to those who do not know sanskrit?  

àíZ H«$. 66 : 1000 bmoH$m§Mm Ë¶m§À¶m qhXr (H) g§ñH¥$V (S) Am{U 
B§J«Or (E) À¶m kmZmÀ¶m g§X^m©V gd}jUmMm {ZH$mb Imbr {Xbm Amho. 
gd© VrZhr ^mfm OmUUmè¶m bmoH$m§Mo g§ñH¥$V Z OmUUmè¶m bmoH$m§er 
H$m¶ JwUmoÎma Amho ? 

 

 

 

 

 

 

 

 

1) 6 : 1  2) 2 : 3 3) 1 : 6  4) 1 : 5  

Question No. 67 : How many triangles and squares 

respectively are there in the following figure ? 

àíZ H«$. 67 : Imbrb AmH¥$VrV AZwH«$‘o {H$Vr {ÌH$moU Am{U Mm¡ag 
AmhoV? 

 

 

  

1) 28, 5 2) 24, 3 3) 28, 3 4) 24, 5  

Question No. 68 : If + denotes greater than and – denotes 

less than then a – b – c implies ....................  

àíZ H«$. 68 : Oa + åhUOo À¶mhÿZ ‘moR>m Am{U - åhUOo À¶mhÿZ 
bhmZ Agob Va a – b – c Mm AW© .......................... Amho. 

1) a – b + c   2) c + a + b  

3)  b + a – c   4) b + c – a  

Question No. 69 : The three positions of dice are shown. If 

the sum of numbers on the opposite faces is 7 and if the 

number of bottom faces are even then what is the sum of 

the numbers on top faces ? 

àíZ H«$. 69 : ’$memÀ¶m VrZ pñWVr Xe©{dë¶m AmhoV. Oa 
g‘moamg‘moaÀ¶m n¥ð>^mJmdarb g§»¶m§Mr ~oarO 7 Agob Am{U Oa 
VimVrb n¥ð>^mJmda g‘ g§»¶m AgVrb Va daÀ¶m n¥ð>^mJm§darb 
g§»¶m§Mr ~oarO {H$Vr Agob ? 

 

 

 

1) 7 2) 14 3) 9 4) 13  

Question No. 70 and 71: A word arrangement machine 

when given an input line of words, rearranges them 

following a particular rule in each step. The following is an 

illustration of input line and the steps of rearrangement. 

Step V is the last step. Identify the rule from it and answer 

the questions that follow. 

àíZ H«$. 70 Am{U 71 : EH$m eãX aMZm H$aUmè¶m ¶§Ìmg, EH$ 
eãXm§Mr Amoi {Xbr AgVm, Vo àË¶oH$ nm¶arda {d{eï> {Z¶‘mZwgma 
nwZa©MZm H$aVo. Imbr EH$ nwadbobr Amoi d nm¶ar nm¶arZo hmoUmar 
nwZa©MZm {Xbr Amho. V nm¶ar eodQ>Mr Amho. Ë¶mdê$Z {Z¶‘ emoYm d 
nwT>rb àíZm§Mr CÎmao Úm. 

 

In put line / {Xbobr Amoi story for around on was he at 

Step I / nm¶ar I around story for on was he at 

Step II / nm¶ar II around at story for on was he 

Step III / nm¶ar III around at for story on was he 

Step IV / nm¶ar IV around at for he story on was 

Step V / nm¶ar V around at for he on story was 

70 : Which of the following steps will be last but one if the 

input line is  

'together over series on feast the so' ? 

70 : Oa {Xbobr Amoi 'together over series on feast the so' 

Agob Va H$moUVr nm¶ar eodQy>Z Xþgar Agob ? 

1) VI 2) V 3) IV 4) III  

71 : If the same rule is followed, what will be the fourth 

step if the input line is  

'go for to though by easy access'? 

71 : Oa VoM {Z¶‘ dmnabo Am{U {Xbobr Amoi  

'go for to though by easy access' 
Agob Va MdWr nm¶ar H$m¶ Agob ? 

1) access by for easy go to though  

2) easy access to go through by for  

3)  access by easy for go though to  

4) access by easy for go to though  

Question Nos. 72 and 73 : A and E are brothers. F is sister 

of E. C is the only son of A's uncle. B and D are the 

daughters of only brother of C's father.  

àíZ H«$. 72 Am{U 73 : A Am{U E ho ^mD$ AmhoV. F hr E Mr ~hrU 
Amho. C hm A À¶m H$mH$m§Mm EHw$bVm EH$ ‘wbJm Amho. B Am{U D øm C 

À¶m d{S>bm§À¶m EHw$bË¶m EH$ ^mdmÀ¶m ‘wbr AmhoV Va 

72.  How is C related to F ?  

1) cousin 2) brother 3) son 4) uncle  

72. C Mo F er H$m¶ ZmVo  Amho ? 

 1) MwbV^mD$  2) g»Im ^mD$  3) ‘wbJm 4) H$mH$m 

73. How many ladies are there in this group ?  

73. ¶m gdm©V {H$Vr ‘{hbm AmhoV ? 

1) 4 2)  2 3)  3 

4)  cannot be said definitely. / Z¸$s gm§JVm ¶oV Zmhr. 

Question No. 74 : Sachin went 3 km towards west. He 

turned to his left and went thrice a distance. There he 

again turned to his left and went five times the 

distance which he has gone towards west. How much 

shortest distance and in which direction he has to go 

so as to reach his starting point ? 

1) 12 km towards northwest 

2) 15 km towards northwest 

3) 15 km towards northeast 

4) 12 km towards east 

àíZ H«$. 74 : g{MZ 3 {H$.‘r. npíM‘obm Jobm. VoWo Vmo Ë¶mÀ¶m 
S>mdrH$S>o diyZ {VßnQ> A§Va Jobm. VoWo nwÝhm S>mdrH$S>o diyZ npíM‘obm 
Joboë¶m A§VamÀ¶m nmMnQ> A§Va Jobm. Va Ama§^q~Xÿnmer OmÊ¶mgmR>r 
Ë¶mbm H$‘rVH$‘r {H$Vr A§Va Am{U H$moUË¶m {Xeobm Omdo bmJob? 

 1) 12 {H$.‘r. dm¶ì¶obm 2) 15 {H$.‘r. dm¶ì¶obm 

 3) 15 {H$.‘r. B©emÝ¶obm 4) 12 {H$.‘r. nyd}bm 

E 
200 120 280 

100 
60 

112 

S 

H 

105 

5 
6 

3 
5 2 

6 
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Questions 75 : Gopal, Ahmad, John, Ram, Krishna are 

doing different professions as farmer, Advocate, Doctor, 

Teacher and Photographer. Each one does different 

professions. 

A) John is more rich then Gopal and Ram and is Advocate. 

B) Farmer is richest. 

C) The poorest person is photographer. 

D) Gopal is a Doctor and Ahmad is photographer. 

E) John is richer then Gopal but not as rich as Krishna. 

Who amongst the following is a farmer ? 

 1) Ram 2) Gopal 3) Ahmad 4) Krishna 

àíZ H«$. 75 : Jmonmi, Ah‘X, Om°Z, am‘, H¥$îU ho eoVH$ar, dH$sb, 
S>m°³Q>a, {ejH$ Am{U ’$moQ>moJ«m’$a Ago ì¶dgm¶ H$aVmV. àË¶oH$OU 
doJim ì¶dgm¶ H$aVmV. 
A) Om°Z hm Jmonmi d am‘ ¶m§À¶mnojm lr‘§V AgyZ Vmo dH$sb Amho. 
B) eoVH$ar gdm©V lr‘§V Amho. 
C) gdm©V Jar~ ‘mUyg ’$moQ>moJ«m’$a Amho. 
D) Jmonmi hm S>m°³Q>a AgyZ Ah‘X hm ’$moQ>moJ«m’$a Amho. 
E) Om°Z hm Jmonminojm lr‘§V AgyZ H¥$îUmEdT>m lr‘§V Zmhr. 
Imbrbn¡H$s H$moU eoVH$ar Amho ?  
 1) am‘ 2) Jmonmi 3) Ah‘X 4) H¥$îU 
Questions 76 and 77 : In a certain code language ASIDE is 

coded as 15789 and BURN is coded as 2346. Then how 

will the following words be coded in the some code 

language ? 

àíZ H«$. 76 Am[U 77 : EH$m gm§Ho${VH$ ^mfoV ASIDE  Mm g§H$oV 
15789  Agm Amho Am{U BURN  Mm g§Ho$V 2346  Agm Amho. Va 
Ë¶mM gm§Ho${VH$ ^mfoV Imbrb eãXm§Mm g§Ho$V H$m¶ Agob ? 
76 :  SURE 
 1) 5431 2) 5349 3) 3791 4) 6394 

77 :   BIKE 

 1) 2709 2) 2759 3) 5712 4) 2608 

Question 78 : In figure ABCD is a cyclic quadrilateral. 

If ADC = 85, P = 40 then Q is ........ 
àíZ H«$. 78 : AmH¥$VrV ABCD hm MH«$s¶ Mm¡H$moZ Amho. Oa 
ADC = 85, P = 40 Va Q = ........ Amho. 
 

 1) 35 2) 60  

  

 3) 40 4) 30 

 

 

 

 

 

Question 79 : ` 5 is the p.a.p.c. of rate of interest. After 3 

years, the simple interest of some principle was ` 120. Then 

for the same principle what will be the total amount after 5 

years if rate is same? 

àíZ H«$. 79 : X.gm.X.eo. 5 ` Agm gaiì¶mOmMm Xa Amho. VrZ 
dfmªZr EH$m aH$‘oMo gaiì¶mO ` 120 hmoVo. Va Ë¶mM aH$‘oMr Ë¶mM 
XamZo 5 dfmªZr EHy$U a¸$‘ (amg) {H$Vr hmoB©b? 
 1) ` 800 2) ` 1200 3) ` 1000 4) ` 2000 

Question 80 : Two dice are thrown at a time. The 

probability of getting the numbers whose sum is 11, is ........ 

 1) 
6

1
 2) 

18

1
 3) 

12

1
 4) 

9

1
 

àíZ H«$. 80 : XmoZ ’$mgo EH$mM doir Q>mH$bo, Va XmoÝhr n¥ð>^mJmdarb 
A§H$m§Mr ~oarO 11 ¶oÊ¶mMr g§̂ mì¶Vm ........ Amho. 

 1) 
6

1
 2) 

18

1
 3) 

12

1
 4) 

9

1
 

Question 81 : If x, varies inversely as the square of y,         

x = 4, when y = 3  Find the value of x, when y = 6. 

àíZ H«$. 81 : Oa x ho y À¶m dJm©À¶m ì¶ñV à‘mUmV ~XbVo, Ooìhm 
x = 4 Voìhm y = 3 Va ‘x’ Mr qH$‘V H$mT>m, Ooìhm y = 6. 
 1) 5 2) 6 3) 2 4) 1 

Question 82 : Two taps A and B can fill separately a tank 

in 12 min and 18 min respectively. Both taps are open 

simultaneously when the tank is empty.  After 4 min A tap 

is turned off and remaining tank is filled by B tap, then how 

long will it take to fill the tank?  
 àíZ H«$. 82 : A d B VmoQ>çmZr EH$ hm¡X ^aÊ¶mg AZwH«$‘o àË¶oH$mg 
12 {‘{ZQ>o d 18 {‘{ZQ>o bmJVmV. hm¡X nyU© [aH$m‘m AgVmZm XmoÝhr 
VmoQ>çm gwé Ho$ë¶m. 4 {‘{ZQ>m§Zr A VmoQ>r ~§X Ho$br, d Cabobm hm¡X B 
VmoQ>rZo ^abm Va Vmo {H$Vr doimV ^aob? 
 1) 8 min 2) 16 min 3) 9 min 4) 15 min 

Question 83 : If 
3

11

3

11

33

m22

3

14

3

14



  = 1 then m = ?  

àíZ H«$. 83 : Oa 
3

11

3

11

33

m22

3

14

3

14



  = 1 Va m = ? 

 1) 12 2) 11 3) 14 4) 13 

Question 84 : Which same number must be added to each 

term of the ratio 2 : 5, so that it may be equal to 5 : 6 ? 

àíZ H«$. 84 : 2 : 5 à‘mUmÀ¶m àË¶oH$ g§»¶oV H$moUVr g‘mZ g§»¶m 
{‘idmdr åhUOo JwUmoÎma 5 : 6 hmoB©b? 
 1) 13 2) 12 3) 14 4) 11 

 

Directions for following 6 questions : Given below are six 

questions describing a situation and is followed by four 

possible responses. Indicate the response you find the most 

appropriate. Choose only one response for each question. 

The responses will be evaluated based on the level of 

appropriateness for the given situation. 

  Please attempt all the questions. There is no penalty 

for wrong answers for these six questions. 

 
nwT>rb ghm àíZm§gmR>r gyMZm : Imbr ghm àíZ {Xbo AmhoV Á`mV 
àË`oH$s EH$ KQ>Zm {Xbr Amho Am{U Ë`mZ§Va Mma à{V[H«$`m {Xë`m 
AmhoV. Vw_À`m Ñï>rZo Ë`mVrb gdm©V `mo½` à{V{H«$`m Zm|Xdm. àË`oH$ 
àíZmH$arVm EH$M n`m©` {ZdS>m. CÎmam§Mo _yë`m§H$Z, {Xboë`m KQ>ZoÀ¶m 
g§X^m©V Cn`mo{JVoÀ`m ñVamda Ho$bo OmB©b. 
H¥$n`m gd© àíZm§Mr CÎmao Úm. `m ghm àíZm§À`m MwH$sÀ`m CÎmamgmR>r 
H$moUVmhr X§S> Ho$bm OmUma Zmhr.  

 

Question no. 85 : As a family counsellor in District Court, 

You are handling a case of divorce of working couple, 

where their child is 10 years old. What would be your 

decision ? 

 1) You will aware them a parental role of love,  

     attachment, affiliation and acceptance of a child. 

 2) Inform them to accept the partner with strengths  

     and weaknesses without any condition. 

 3) Handover the child to the grandparents. 

 4) 1 and 2 both.   

A 

D 

P 

C 

Q 

B 
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àíZ H«$. 85  : Vwåhr {Oëhm Ý¶m¶mb¶mV H$m¡Qw>§{~H$ g‘wnXoeH$ åhUyZ 
H$m‘ H$aV AmhmV. Vw‘À¶mH$S>o KQ>ñ’$moQ>mgmR>r Amboë¶m OmoS>ß¶mg 10 
dfm©Mm ‘wbJm Amho. Aemdoir Vwåhr H$m¶ {ZU©¶ ¿¶mb ? 
 1) Vwåhr Ë¶m OmoS>ß¶mg ào‘, ghdmg, OdirH$Vm d ~mbH$mMm  
     ñdrH$ma ¶m~m~V nmbH$m§À¶m ŷ{‘H$m§Mr OmUrd {Z‘m©U H$ê$Z 
     Úmb. 
 2) OmoS>rXmamg Ë¶mÀ¶m j‘Vm d H$‘VaVm§g{hV {dZmAQ>  
     ñdrH$ma H$aÊ¶mg gm§Jmb. 
 3) ‘wbmMm Vm~m AmOr-AmOmo~m§H$S>o XoÊ¶mg gwMdmb. 
 4) 1 d 2 XmoÝht. 
Question no. 86 : You are a principal of the school. You 

get a written application from parents that one of your 

teachers gives harsh physical punishment to the students.  

You would ..... 

 1) get a secret report about concerned teacher from  

     reliable and close teaching as well as non teaching  

     staff. 

 2) observe the teacher's behaviour without informing  

     him and aware him about his misbehaviour. 

 3) suspend him from his duty. 

 4) 1 and 3 both.    
àíZ H«$. 86  : Vwåhr EH$m emioMo àmMm¶© AmhmV. nmbH$m§H$Sy>Z Vwåhmbm 
boIr VH«$ma ¶oVo H$s Vw‘À¶m emioVrb EH$ {ejH$ ‘wbm§Zm emararH$ 
{ejm (‘mahmU) H$aVmV. Aemdoir Vwåhr H$m¶ H$amb ?                                                                   
 1) {dídgZr¶ Am{U OdiÀ¶m {ejH$-{ejHo$Va  
     H$‘©Mmè¶m§H$Sy>Z ¶m {ejH$m~m~V ‘m{hVr {‘idmb. 
 2) {ejH$mbm ‘m{hVr Z hmoVm Ë¶m§À¶m dJm©Vrb dV©ZmMo {ZarjU  
       H$ê$Z Ë¶m§Zm ñdV…‘Ü¶o ~Xb H$aÊ¶mMr OmUrd H$ê$Z Úmb. 
 3) Ë¶m§Zm VmËH$mi {Zb§{~V H$amb. 
 4) 1 d 3 XmoÝht. 
Question no. 87 : You are a Jr Engineer in irrigation 

department, you came to know that the quality of products 

used in a construction of Dam was not up to the mark. 

When you informed about it to the project manager, he tried 

to bribe and threaten you. What will you do ? 

 1) Report about it to senior officer. 

 2) Complain about the matter to the police. 

 3) Give a written letter to the higher authority for  

     investigation and further action.  
 4) All the above.   
àíZ H«$. 87 : Vwåhr nmUbmoQ> joÌ {d^mJmV H${Zð> A{^¶§Vm ¶m nXmda 
H$m¶©aV AmhmV. Vw‘À¶m {ZXe©Zmg ¶oVo H$s YaUmÀ¶m ~m§YH$m‘mgmR>r 
dmnaÊ¶mV ¶oUmao gm{hË¶ {ZH¥$ï> XOm©Mo Amho. Vwåhr ¶m~m~V àH$ën 
ì¶dñWmnH$mg {dMmaUm Ho$br AgVm Vmo Vwåhmbm bmM ñdrH$maÊ¶mg 
gm§JyZ Y‘H$s XoV Amho. Vwåhr H$m¶ H$amb ?   
 1) d[að> A{YH$mè¶mH$S>o ¶m~m~V VH«$ma H$amb. 
 2) nmo{bgm§H$S>o VH«$ma H$amb. 
 3) ¶m KQ>ZoMm gImob Vnmg d H$m¶©dmhrgmR>r d[að>m§H$S>o  
     ¶m~m~V boIr VH«$ma H$amb. 
 4) darb gd©. 
Question no. 88 : You are police officer at Airport. One of 

the passengers informs you about the bag, lying at the 

airport. What would you do ? 

 1) Inform the special quad and ask for immediate  

     assistance as the bag may contain a bomb. 

 2) Ask the passengers to vacate the place. 

 3) Go near the bag and open it.  
 4) 1 and 2 both.   

àíZ H«$. 88 : Vwåhr {d‘mZVimda nmo{bg A{YH$mar åhUyZ H$m¶©aV 
AmhmV. {d‘mZVimda EH$ ~odmag ~°J nS>bobr Agë¶mMr ‘m{hVr 
Vwåhmbm EH$m àdmemH$Sy>Z {‘iVo. Vwåhr H$m¶ H$amb ?   
 1) ~°J‘Ü¶o ~m°å~ Agë¶mMr e³¶Vm bjmV KoD$Z VmËH$mi  
     ‘XVrgmR>r {deof nWH$mMr ‘XV ¿¶mb. 
 2) àdmem§Zm Vr OmJm [aH$m‘r H$aÊ¶mgmR>r gm§Jmb. 
 3) ~°JoOdi OmD$Z ~°J CKS>mb. 
 4) 1 d 2 XmoÝht. 
Question no. 89 : You are attending a formal meeting of 

launching a metro railway project in your city. The meeting 

is very boring and unproductive. Being a corporator, how 

would you react ? 

 1) Pretend to have received on urgent call and go  

      back to your chamber. 

 2) Try to involve yourself and make the meeting  

     more productive and help the team in reaching a  

     conclusion.  

 3) Try to postpone the meeting. 

 4) None of the above.    
àíZ H«$. 89 : Vwåhr ZJagodH$ AmhmV. Vw‘À¶m ehamV hmoUmè¶m ‘oQ́>mo 
aoëdoÀ¶m àH$ënmgmR>r Am¶mo{OV Ho$boë¶m {‘qQ>Jbm Vwåhr CnpñWV 
AmhmV. {‘qQ>J H§$Q>midmUr Am{U ’$b{ZînÎmrhrZ hmoV Mmbbr Amho. 
Aemdoir Vwåhr H$m¶ H$amb ?   
 1) Vwåhmbm ‘hËdmMm ’$moZ Amë¶mMo T>m§oJ H$ê$Z Vwåhr Vw‘À¶m 
     H$jmV Omb.  
 2) {‘qQ>J‘Ü¶o gH«$s¶ gh^mJ Zm|XdyZ Vr OmñVrV OmñV 
     ’$bXm¶r d C{Ôð>H|${ÐV ~ZdÊ¶mMm à¶ËZ H$amb. 
 3) {‘qQ>J nwT>o T>H$bÊ¶mMm à¶ËZ H$amb. 
 4) darbn¡H$s Zmhr. 
Question no. 90 : You are a food Inspector. You have 

received a complaint about the low food grade that is 

served under mid-day meal scheme in one of the schools of 

your district. You will ..... 

 1) ignore the complaint thinking that it should be 

      brought to the notice of education department. 

 2) as you are competent and responsible authority 

     you will ask for the written complaint regarding  

     low quality of food. 

 3) take the complaint and send the food samples used  

     in food preparation to the laboratory.  
 4) both '2' and '3'.   
àíZ H«$. 90 : Vwåhr AÞ {ZarjH$ AmhmV. Vwåhr H$m¶©aV Agboë¶m 
{OëømVrb EH$m emioV {Xë¶m OmUmè¶m ‘Ü¶mÝh ^moOZmV {ZH¥$ï> 
XOm©Mo AÞYmÝ¶ dmnabo OmV Amho Aer VH«$ma Vw‘À¶mH$S>o Ambr. Vwåhr 
H$m¶ H$amb ?   
 1) hr VH«$ma {ejU {d^mJmH$S>o Om¶bm nm{hOo Agm {dMma  
     H$ê$Z Vwåhr Xþb©j H$amb. 
 2) Vwåhr gj‘ Am{U O~m~Xma A{YH$mar ¶m ZmË¶mZo AÞmÀ¶m  
     {ZH¥$ï>> XOm©~Ôb boIr VH«$ma ‘mJdmb. 
 3) VH«$ma Zm|XdyZ AÞ V¶ma H$aÊ¶mgmR>r dmnaboë¶m  
     AÞnXmWmªMo Z‘wZo narjUmgmR>r à¶moJemioV nmR>dmb. 
 4) 2 d 3 XmoÝht.  
 
 
 

 

 

 

 PAPER  ENDS  HERE  
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 Omon ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 
 

S>m°. Am§~oS>H$a ñnYm© narjm H|$Ð, `eXm, nwUo 
`m§À`mH$arVm 

àkm emoY d gdm}ËH¥$ï>Vm H|$Ð, Zm¡. dm{S>`m _hm{dÚmb`, nwUo 
`m§Zr Am`mo{OV Ho$bobr 

àdoe narjm 
doi : XmoZ Vmg                                                                                 A{YH$V_ JwU : 200 

gyMZm 

1. narjm gwê$ Pmë`mZ§Va bJoMM øm àíZg§MmV H$mhr nmZo H$moar qH$dm \$mQ>bobr AmhoV H$m qH$dm H$mhr nmZo qH$dm àíZ Jhmi Pmbo 
AmhoV H$m ho Vnmgm. Vgo Agë`mg øm àíZg§MmEodOr ZdrZ àíZg§M ¿`m. 

2. ~mOybm {Xboë`m Mm¡H$moZmV Vw_Mm narjm H«$_m§H$ {bhm. Ë`m ì`{V[aŠV `m àíZg§Mmda H$mhr {bhÿ ZH$m. 

3. `m àíZg§MmV EHy$U XmoZ ^mJ Imbrbà_mUo {d^mJbobo AmhoV.  

 EHy$U 
àíZ 

JwU àíZm§Mo ñdê$n MwH$sÀ`m CÎmamgmR>r X§S> 

^mJ - 1 50 100 dñVw{Zð> àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S> 

^mJ - 2 40 100 dñVw{Zð> à. H«$. 85 Vo 90 ì`{V[aŠV àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S 

àË`oH$ àíZ B§J«Or Am{U _amR>r _Ü`o N>mnbobm Amho. àË`oH$ àíZmbm Mma n`m©` {Xbobo AmhoV. Ë`mn¡H$s Agm EH$ n`m©` {ZdS>m H$s Omo 
Vwåhmbm CÎman{ÌHo$da Zm|Xdm`Mm Amho. Oa Vwåhmbm EH$mnojm A{YH$ n`m©` ~amo~a dmQ>V AgVrb Va Ë`mVrb Vwåhmbm dmQ>Umam gdm©V `mo½` 
n`m©` Zm|Xdm. H$moUË`mhr àíZmgmR>r Ho$di EH$M n`m©` {ZdS>m. 

4. gd© 90 dñVw{Zð àíZm§Mr CÎmao (^mJ 1 d 2) gH$mir 11 Vo Xþnmar 1 ¶m doioV Vwåhmbm Ë¶mgmR>r {Xboë`m ñdV§Ì CÎman{ÌHo$daM Zm|Xdm`Mr 
AmhoV.  

5. dñVw{Zð àíZm§Mr CÎman{ÌH$m Xþnmar 1 dmOVm naV KoVbr OmB©b. H$moUË¶mhr n[apñWVrV dñVw{Zð> àíZm§Mr CÎmao Xþnmar 1 Z§Va {b{hVm 
¶oUma ZmhrV  

6. CÎman{ÌHo$da n`m©` Zm|X{dÊ`mnydu Vwåhmbm CÎman{ÌHo$da {d{eï>>_m{hVr ^am`Mr Amho. hr _m{hVr Vwåhmbm {Xboë`m àdoe n{ÌHo$da Amho. 
7. gd© àíZm§Mo n`m©` Zm|XdyZ nyU© Pmë`mZ§Va Am{U narjm g§në`mZ§Va Vwåhmbm n ©̀dojH$m§H$S>o \$ŠV CÎman{ÌH$m Úmd`mMr Amho. hm àíZg§M 

KodyZ OmÊ`mg Vwåhmbm nadmZJr Amho. Xþnmar 12 dmOÊ¶mnydu Vwåhr narjmH$jmVyZ ~mhoa OmD$ eH$Uma Zmhr. 
8. H$ÀMo H$m_ H$aÊ`mgmR>r `m àíZg§MmÀ`m eodQ>r H$mhr OmJm {Xbr Amho. 
9. MwH$sÀ`m CÎmamH$arVm X§S> : 
      àíZn{ÌHo$_Ü`o àíZ H«$_m§H$ 85 Vo 90 ì`{V[aŠV ^mJ 1 d ^mJ 2 ‘Yrb BVa àíZm§Mo MwH$sMo CÎma Zm|X{dUmè`m narjmWvZm X§S> Ho$bm  
     OmB©b. àíZ H«$_m§H$ 85 Vo 90 `m àíZm§À`m MwH$sÀ`m CÎmam§gmR>r X§S> Ho$bm OmUma Zmhr. 

i) àË`oH$ àíZmbm Mma n`m©`r CÎmao {Xbr AmhoV. narjmÏ¶m©Zo {Xboë`m àË`oH$ MwH$sÀ`m CÎmamgmR>r Ë`m àíZmbm Agboë`m JwUm§À`m 
EH$ V¥{V`m§e JwU X§S> åhUyZ H$mnbo OmVrb. 

ii) Oa narjmÏ¶m©Zo EH$m àíZmgmR>r EH$mnojm OmñV CÎmao Zm|X{dbr Va Oar Ë`mVrb EImXo CÎma ~amo~a Agob Varhr Vo CÎma MwH$sMo 
_mZbo OmB©b d Ë`mgmR>r darbà_mUo X§S> Ho$bm OmB©b. 

iii) Oa EImÚm àíZmMo CÎma Zm|X{dboM Zmhr Va Ë`m àíZmgmR>r H$moUVmhr X§S> Ho$bm OmUma Zmhr.  
10. ¶m àíZg§MmVrb ^mJ-2 ‘Ü¶o H$‘rV H$‘r 33 JwU {‘imë¶mgM ^mJ-1 Vnmgbm OmB©b Am{U A§{V‘ {ZdS> ¶mXr ^mJ-1 ‘Ü¶o {‘imboë¶m 

JwUm§ZwgmaM V¶ma Ho$br OmB©b ¶mMr Zm|X ¿¶mdr.    

11. `m narjoMm {ZH$mb {X. 22.12.2017 amoOr qH$dm Ë¶mZ§Va Am_À`m www.yashada.org/acec `m do~gmB©Q>da Kmo{fV Ho$bm OmB©b. 

 Omo n ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 

Note : English version of the instructions is printed on the front cover of this Booklet.

 
 


